R BY B

FETHRIBRIE1.106~1"% W)
o
S
T,
'///////ﬂ I .
L SN
{ T I g
i o 4 [») d
D d D d u |
1 ] - b
AN e I @)
L0 ] B
L‘—W—“‘ Wi "-—'WIA—J
E i H ®R B fh #% % R R
¥ E <+ &
pidl i &% B R
d D | W | WL | FD | FW | FW1
1016|1/8 |1.1913] - | - RI-2 - -
1.397| 3/16| 5/64 | 7/64 | 5.944/0.584|0.787 RI-3 RI-3ZZ RIF—3 RIF-37Z
5/64 | 1/4 |3/32]357 | 7518 0.5840.787 RI—4 RI-477 RIF-—-4 RIF-422
3/32 (3/16{1/16 | 3/32 | 5.944 0.457|0.787 RI-3332 RI-3332ZZ RIF-3332 RIF—3332ZZ
3/32 1 5/1612.78 | 357 | 9.119 0.584|0.787 RI-5 RI--5Z2 RIF-5 RIF-5ZZ
1/8 |1/4 |3/32|7/64]| 7.5180.584|0.787 RI-418 RI-418Z2Z RIF-418 RIF-41827
1/8 |5/16|7/64|9/64| 9.1190.584|0.787 RI-518 RI-51822 RIF-518 RIF-5182Z
1/8 |3/8 |7/64{9/64(10.7190.584|0.787 RI-618 RI-618Z2Z RIF-618 RIF-61827
1/8 |3/8 |5/3215/32(11.176/0.762]0.762 R -2 R 272 RF—2 RF-222
5/32 | 5/16|7/64 1 1/8 | 9.1190.584 0914 RI-5532 RI-553222 RIF-5532 RIF—-55322Z
3/16 | 5/16|7/64|1/8 | 9.1190.584{0.914 RI—5632 RI-56322Z RIF—5632 RIF—563222
3/16 [ 3/8 |1/8 |1/8 [10.7190.584(0.789 RI-6632 RI-6632Z2 RIF—6632 RIF--66322Z
3/16 | 172 |5/32 | 5mm|14.351/ 1.067|1.067 R-3 R -37Z RF-3 RF-32Z
3/16 | 1/2 | 5mm RA—3
1/4 |3/8 |1/8 |1/8 [10.7190.584|0914 RI-614 RI-6147Z RIF- 614 RIF—61422
174 |1/2 |1/8 [3/16(13.8940.5841 143 RI-814 RI-81472 RIF-814 RIF-81427
1/4 |5/8 |5mm|5mm]|17.526 1.067|1.067 R -4 R 472 RF—4 RF-472
1/4 |3/4 |7/32|9/32 RI-1214 RI-121422
5/16 | 1/2 | 5/32 | 5/32113.8940.787|0.787 R1-8516 RI-85162Z RIF—-8516 RIF-85162Z
3/8 |7/8 |7/32]9/32 24613 1575 R -6 R -62Z RF--622
1/2 |1% |1/4 |5/16 R -8 R -822
5/8 | 1% 19/32111/32 R ~10 R ~10ZZ
3/4 |13 15/16]7/16 R-12 R 1272
7/8 |17 |3/8 [1/2 R —14 R--1472
17 {27 |3/8 [1/2 R-16 R-162Z
14 12k [3/8 [172 R-18 R -182Z
1 2% 13/8 |1/2 R--20 R 2022
1% |2k |7/16(9/16 R 22 R —2277
1% |23 17/16]9/16 R —24 R -2477




ik IR B o R

A1E1~3mm

AR
QN

., \_ ot
L w
BY A & £ % A M A
F E <+ &
pit] 74 o B
d D W | WL | FD | FW | Fwl
1 3 1 - 38| 03 L-310 LF310
3 15 - L—~310w51
4 16 - R—410
1.2 4 18 - | 48| 04 R—412 RF—412
15 4 12 | 2 50| 04 L—415 L.—415zz LF-415
4 18 | 25 L-415w81 L—415zzw52
5 2 26 | 65| 06 | 08 R-515 R-515zz RF-515 RF-515z2
6 251 3 751 06 { 08 R—615 R-615zz RF-615 RF-615zz
2 5 151234 61| 05| 06 L—520 L—-520zz LF-520 RF—520zz
5 2 25 L—-520w02 L—520z2zw52
5 25 - L—520w52
6 231 3 75| 06 | 08 R—620 R—620zz RF—620 RF620zz
6 251 25 72| 06 | 06 R—620w52 R~620z2y52 RF—620w52 RF—620z2y52
6 25 ] 23 R—620w52 R—620xzzy32
7 28 | 35| 85) 07 | 09 R~720 R--720zz RF-720 RF—-720zz
7 25| 3 82 06 | 06 R—720y52 R—720z2y03 RF--720y52 RF-—-720z2y03
25 6 18 | 26 711 05| 08 L-625 L—62522 LF—-625 LF-62522
7 251 35| 85| 07 | 07 R—725 R—725zz RF-725 RF—725zz
7 -1 3 8.2 06 R-725zzy03 RF-72522y03
8 28 | 4 95| 07 | 09 R—825 R—825z2 RF—-825 RF-825zz
8 25| 28 | 92| 06 - R—825y52 R-825z2y82 RF—825y52
3 6 2 25 721 06 | 06 L -630 L—630zz LF-630 LF-630zz
7 2 3 81] 05 08 L—-730 L—730zz LF-730 LF-730zz
8 3 4 95| 07 | 09 R-830 R—830z2 RF—830 RF—-830zz
8 251 3 92| 06 - R—830y52 R—830zzy03 RF—830y52 -
8 - 1 35 - R—830zzy53 — —
9 3 5 105} 07 | 10 R—930 R—930zz RF-930 RF—930zz
9 25 | 4 10.2] 06 R—930y52 R—930zzy04 RF—930y52
9 - | 4 106 0.8 - - - RF—930zzy04
10 4 4 115 10| 10 R—1030 R—1030zz RF-1030 RF--1030zz
10 35 - R—1030y53 - - -




% IR B R

A& 4~7mm

Ay
NN/,

[
B A AU
F E S &
1] 5% oo OB R
d D | W | WL | FD | FW | FWL
4 712 251 82 06| 06| L-740 L- 74022 LF— 740 LF~ 74072
8 | 2 3 92| 06 | 06 | L-840 L— 84022 LF— 840 LF— 84072
9 | 25| 4 |103]| 06| 06| L-940 L— 94022 LF— 940 LF— 94072
10 |3 4 |112] 06| - | L-1040 L-104027 LF—1040 -
10| -4 l11e| - | 08 - LF—104072
1 | 4 4 |125| 10| 10| R-1140 R—-114072 RF--1140 RF—104072
11| 35| - R-1140y53
12 ] 4 4 |135] 10| 10| R-1240 R-124022 RF—1240 RF—124077
1315 5 l150!0 10| 10| R-1340 R-134072 RF—1340 RF-134077
16 | 5 5 l180| 10| 10| R-1640 R-164022 FR-1640 RF—16407Z
LF— 85072
5 8 | 2 25| 92| 06| 06| L-850 L- 850ZZ LF- 850 LF— 85072
8 | 28| - 1 —850w82 - - -
91 25|3 ]102]| 06| 06| L-59 L— 950ZZ LF— 950 LF— 950ZZ
10 |3 4 |112]| 06| —| L-10%0 L-105022Z - -
10 4 |116| — | 08 LF~1050ZZ
1|3 5 |125] 08| 10| L-1150 {-115022 - LF—11502Z
11 -4 |126] - | 08 {—1150Z Zy04 LF-1150ZZy04
13 | 4 4 |150] 101 10| R-13%0 R-135022 RF~1350 RF—135022
13| -|5 |150]101 10 R-1350ZZw05 - RF—1350Z Zw05
14 |5 5 |160{ 10 { 1.0 | R-1450 R-145022 RF—1450 RF—14507Z
16 | 5 5 |180] 10| 10 | R-1650 R-16502Z RF-1650 RF—1650ZZ
19 | 6 6 |220] 15| 15| R-1950 R—195072 RF-1950 RF—1950227
6 | 10 | 253 |112| 06| 06| L-1060 L-1060ZZ LF--1060 LF-1060ZZ
12 | 3 4 |132]| 06| — | L-1260 L-1260ZZ LF—1260
121 -t 4 t136] — 1|08 LF—1260ZZ
13135(5 |150) 10| 1.1 | L-1360 L-1360ZZ LF—1360 LF-1360ZZ
13] -1 45 L—1360ZZy54
1515 |5 {170] 12| 12| R-1560 R—156022 RF-1560 RF—15602Z
17 | 6 6 1190| 12| 1.2 | R-1760 R-176022 RF-1760 RF—17602Z
19 |6 6 |220] 15| 15| R-1960 R—196022 RF—1960 RF-196077
217 7 R—636 R— 63622
7 |11 ]25]3 {122]| 06} 06| L-1170 L~117027 LF-1170 LF-1170ZZ
13| 3 4 142 06| — | L-1370 L-137027 {F-1370
13| — |4 |146] - | 08 LF—137022
14 | 35| 5 |160] 10| 11| L-1470 L—-147022 LF—1470 LF-1470Z2
17 |5 5 L—1770 L~17702Z
19 | 6 6 R--1970 R-1970Z2 - -
217 7 12501 15 1] 15| R-2270 R-227072 RF-2270 RF—22707Z
26 | 9 9 R-637 R— 63722




B R BY %
’E8~20mm

V//////////A!
AN

AT

AN

=7

s

=X

r ) Y /71 T .
w— wi LW -
B Ay B H# B A LT
* E ~f &
i) 174 & BOSE

d D w Wil FD FW | FW1

8 12 25 1 35 {1322 06 - L—-1280 L—1280zz LF—-1280 —
12 — | 35 136 - | 08 LF—1280zz
14 351 4 156 | 08 | 08 L—1480 L-1480zz LF-1480 LF-1480zz
16 4 5 1801 1.0 L1680 L—-1680zz LF-1680 LF-1680zz
16 -1 6 L~1680zz w06
19 6 6 220 15| 15 R—1980 R—1980zz RF—1980 RF—-1980zz
22 7 7 25041 154 15 R—2280 R—2280zz RF—2280 RF—-2280zz
24 | 8 8 R—2480 R—2480zz —
2819 9 R—638 R—638zz

9 17 4 5 1901 10 | 11 L—-1790 L~1790zz LF-1790 LF—-1790zz
20 6 6 L—2090 L—2090zz
24 7 7 R—2490 R—2490zz
26 8 8 R—2690 R—2690727

10 20 6 6 R-2010 R—201022Z

10 19 451 5 L—1910y54 L—1910zzy05
19 5 7 22 1.5 L—-1910 L—1910zz LF-1910zz
15 3 4 16.5 0.8 A—1510 A—-1510zz - AF—-1510zz
26 8 8 R—-2610 R—2610zz

15 20 35 A-2015
21 35 A-2115

16 22 4 A-2216

18 24 4 A—2418

20 25 4 A—2520






